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1. (A) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé : (•Û¾Ûé ©Ûé ÍÛÛ©Û) 7 
  Select appropriate alternative. (Any seven) 
  (1) ¶ÛÛ¨ÛÛ×ïõàýÛ ¸ÛªÛïõÛé¾ÛÛ× ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé.  
   (a) ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä×  (b) ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ¸ÛªÛïõ 
   (c) ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷  
   Financial Statements include 
   (a) P & L Account (b) Cash Flow Statement 
   (c) Balance Sheet (d) All of the above 
  (2) ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨ÛÛé ïõÛé¨Û ¼ÛÐüÛÁõ ¸ÛÛ¦éø ™öé ? 
   (a) ICAI (b) ICWAI 
   (c) ICSI (d) CLB 
   Accounting Standards are issued by 
   (a) ICAI (b) ICWAI 
   (c) ICSI (d) CLB 
  (3) …Û›÷ ÍÛäµÛà ïéõ¤øÅÛÛ ÜÐüÍÛÛ¼ÛÛé µÛÛéÁõ¨ÛÛé ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¾ÛÛ× …ÛÈýÛÛ ™öé ? 
   (a) 26 (b) 32 
   (c) 24 (d) 20 
   How many accounting standards are issued till today  ? 
   (a) 26 (b) 32 
   (c) 24 (d) 20 
  (4) ½ÛÛÁõ©ÛàýÛ GAAP ¾Ûä›÷¼Û ¶ÛÛ¨ÛÛ×ïõàýÛ ¸ÛªÛïõÛé ïõˆ Ýïõ¾Û©Ûé Áõ›æ÷ ¬ÛÛýÛ ™öé  
   (a) ¼Û›ÛÁõ Ýïõ¾Û©Û (b) ÈÛÛ›÷¼Ûà Ýïõ¾Û©Û 
   (c) …íéÜ©ÛÐüÛÜÍÛïõ Ýïõ¾Û©Û  (d) ¸Ûä¶Û:Í¬ÛÛ¸Û¶ÛÛ Ýïõ¾Û©Û  
   As per Indian GAAP financial statements are presented at  
   (a) Market Value (b) Fair Value 
   (c) Historical Value (d) Replacement Value 
  (5) …ÅÛ•Û …ÜÍ©Û©ÈÛ¶ÛÛé ”ýÛÛÅÛ ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ µÛ×µÛÛ¶Ûé ÅÛÛ•Ûä ¸Û¦éø ? 
   (a) …éïõÛ×ïõà ÈÛé¸ÛÛÁõà (b) ï×õ¸Û¶Ûà 
   (c) ¸Ûé§øà (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 
   The concept of separate entity is applicable to which of the following types of 

business  ? 
   (a) Sole Proprietorship (b) Company 
   (c) Firm (d) All of the above 
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  (6) IFRS ïõÛé¨Û ¼ÛÐüÛÁõ ¸ÛÛ¦éø ™öé ? 

   (a) IASB (b) FASB 

   (c) ICAI (d) IASC 

   IFRS are issued by 

   (a) IASB (b) FASB 

   (c) ICAI (d) IASC 

  (7) ˜ÛÛé””ÛÛ ¶ÛºõÛ¶ÛÛ 10% ÅÛé”Ûé …¶ÛÛ¾Û©Û ”ÛÛ©Ûé ºõÁõÜ›÷ýÛÛ©Û ºéõÁõ¼ÛþùÅÛà ïõÁõÈÛÛ ¾ÛÛ¤éø ½ÛÅÛÛ¾Û¨Û 
ïõÁéõÅÛ Ü¦øÜÈÛ¦×ø¦ø 

   (a) 10% ¬Ûà ÈÛµÛä ¸ÛÁ×õ©Ûä 12.5% ¬Ûà ÈÛµÛä ¶ÛÐüà 

   (b) 20% ¬Ûà ÈÛµÛä 

   (c) 15% ¬Ûà ÈÛµÛä ¸ÛÁ×õ©Ûä 20% ¬Ûà ÈÛµÛä ¶ÛÐüà  

   (d) 12.5% ¬Ûà ÈÛµÛä ¸ÛÁ×õ©Ûä 15% ¬Ûà ÈÛµÛä ¶ÛÐüà 
   Compulsory transfer to reserve 10% of net profit, if dividend cleared is 

   (a) Exceeds 10% but not exceeds 12.5% 

   (b) Exceeds 20% 

   (c) Exceeds 15% but not exceeds 20% 

   (d) Exceeds 12.5% but not exceeds 15% 

  (8) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ÜÈÛ•Û©Û …¶ÛÛ¾Û©Û …¶Ûé ÈÛµÛÛÁõÛ¶ÛÛ ÜÉÛÌÛÙïõ Ðéü¥øÇ ¶Û …ÛÈÛé ? 

   (a) ¾Ûæ¦øà ¸ÛÁõ©Û …¶ÛÛ¾Û©Û (b) ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û 

   (c) ¸ÛóÛéÜÈÛ¦×ø¦ø º×õ¦ø (d) ÍÛàÝïõ•Û º×õ¦ø  
   Which of the following items does not come under reserves and surplus  ? 

   (a) Capital redemption reserve (b) General reserve 

   (c) Provident fund (d) Sinking fund 

  (9) ©ÛÛÁõ¨ÛÈÛÛÇà ÅÛÛé¶Û ¸ÛÁ ˜Û§éøÅÛä× …¶Ûé þéùÈÛä× ¬ÛýÛéÅÛä× ÈýÛÛ›÷ ¶Ûà˜Ûé¶ÛÛ ÉÛàÌÛÙïõ Ðéü¥øÇ þùÉÛÛÙÈÛÛýÛ : 

   (a) ˜ÛÛÅÛä ›÷ÈÛÛ¼ÛþùÛÁõà (b) …¶ÛÛ¾Û©Û …¶Ûé ÈÛµÛÛÁõÛé 

   (c) ©ÛÛÁõ¨ÛÈÛ•ÛÁõ¶Ûà ÅÛÛé¶Û (d) ©ÛÛÁõ¨ÛÈÛÛÇà ÅÛÛé¶Û 
   Interest accrued and due on secured loan is shown under the head 

   (a) Current liabilities  (b) Reserve and Surplus 

   (c) Unsecured loan (d) Secured loan 

  (10) ©ÛÛÁõ¨ÛÈÛÛÇà ÅÛÛé¶Û ¸ÛÁõ ˜Û§éøÅÛä× ¸ÛÁ×õ©Ûä þéùÈÛä× ¶ÛÐüà ¬ÛýÛéÅÛä× ÈýÛÛ›÷ ¶Ûà˜Ûé¶ÛÛ ÉÛàÌÛÙïõ Ðéü¥øÇ þùÉÛÛÙÈÛÛýÛ : 

   (a) ˜ÛÛÅÛä ›÷ÈÛÛ¼ÛþùÛÁõà (b) ©ÛÛÁõ¨ÛÈÛÛÇà ÅÛÛé¶Û 

   (c) ©ÛÛÁõ¨ÛÈÛ•ÛÁõ¶Ûà ÅÛÛé¶Û (d) …¶ÛÛ¾Û©Û …¶Ûé ÈÛµÛÛÁõÛé 
   Interest accrued but not due on secured loan is shown under the head 

   (a) Current liabilities (b) Secured loan 

   (c) Unsecured loan (d) Reserve and surplus 
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 (B) ¶ÛÛ¨ÛÛ×ïõàýÛ ¸ÛªÛïõÛé¶ÛÛ ÅÛ“Û¨ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.   7 

  Characteristics of financial statements. 

    …¬ÛÈÛÛ/OR 

  ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨ÛÛé …é¤øÅÛé ÉÛä× ? ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨ÛÛé ¼ÛÐüÛÁõ ¸ÛÛ¦øÈÛÛ¶Ûà ¸ÛóÜ’õýÛÛ ÍÛ¾Û›ÛÈÛÛé.  

  What is accounting standards  ? Explain the procedure for issue of accounting 
standards. 

 

2. ÜÈÛÊÈÛÛ ÜÅÛÜ¾Û¤éø¦ø¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ©Û¾ÛÛÁéõ ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× ©ÛíéýÛÛÁõ ïõÁõÈÛÛ¶Ûä× ™öé.  14 

½ÛÁõ¸ÛÛˆ ¬ÛýÛéÅÛ ÉÛéÁõ¾Ûæ¦øà ` 20,00,000

…¶ÛÛ¾Û©ÛÛé ÍÛÛ¬Ûé ÉÛéÁõ¾Ûæ¦øà¶ÛÛé •Ûä¨ÛÛé«ÛÁõ 1 

˜ÛÛé””Ûà ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà ÍÛÛ¬Ûé ¾ÛÛÜÅÛïõà ½Û×¦øÛéÇ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ 0.3 

ÈÛé˜ÛÛ¨Û ÍÛÛ¬Ûé ¾ÛÛÜÅÛïõà ½Û×¦øÛéÇ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ 1.5 

ÈÛé˜ÛÛ¨Û ÍÛÛ¬Ûé ïõÛýÛ¾Ûà Ü¾ÛÅÛïõ©ÛÛé¶ÛÛé •Ûä¨ÛÛé«ÛÁõ 2 

ÈÛé˜ÛÛ¨Û ÍÛÛ¬Ûé þéùÈÛÛþùÛÁõ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ  6 

ïõÛ˜ÛÛ ¶ÛºõÛ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ  20% 

Í¤øÛéïõ ˜ÛÅÛ¶ÛþùÁõ 2 ¾ÛÜÐü¶ÛÛ 

¾ÛÛÜÅÛïõà ½Û×¦øÛéÇ ÍÛÛ¬Ûé ÅÛÛ×¼ÛÛ •ÛÛÇÛ¶ÛÛ þéùÈÛÛ×¶ÛÛé •Ûä¨ÛÛé«ÛÁõ 20 

˜ÛÛÅÛä •Ûä¨ÛÛé«ÛÁõ 2.5 

¸ÛóÈÛÛÐüà •Ûä¨ÛÛé«ÛÁõ 1.5 

 ¼Ûêïõ …ÛéÈÛÁõ¦ÖøÛ¹¤ø ¶Û¬Ûà …é¾Û µÛÛÁõÛé.  
 From the following information relating to Vishwa Ltd. You are required to prepare its 

Balance Sheet.     

Paid up share capital ` 20,00,000

Reserve to share capital ratio 1 

Net working capital to proprietors fund ratio 0.3 

Sales to proprietors fund ratio 1.5 

Sales to fixed assets ratio 2 

Sales to debtors ratio 6 

Gross profit ratio 20% 

Stock turnover ratio 2 months 

Proprietors fund to long term debt ratio 20 

Current ratio 2.5 

Liquid ratio 1.5 

 Assume there is no bank overdraft. 

…¬ÛÈÛÛ/OR 
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 PDPMCC ÜÅÛÜ¾Û¤éø¦ø¶ÛÛ ©ÛÛ. 31-03-2012 …¶Ûé ©ÛÛ. 31-03-2013 ¶ÛÛ ÁõÛé›÷¶ÛÛ ¸ÛÛïõÛ ÍÛÁõÈÛíéýÛÛ ¶Ûà˜Ûé 
¾Ûä›÷¼Û ™öé : 

›÷ÈÛÛ¼ÛþùÛÁõà…Ûé 
31/3/12 

(`) 

31/3/13 

(`) 

Ü¾ÛÅÛïõ©ÛÛé 31/3/12 

(`) 

31/3/13 

(`) 

ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà 6,00,000 12,00,000 ¸ÛÛ–Û¦øà 1,50,000 1,20,000

þùÁéõïõ ` 10 ¶ÛÛé ©ÛéÈÛÛ  ›÷¾Ûà¶Û …¶Ûé ¾ÛïõÛ¶Û 4,80,000 7,20,000

10% ¶ÛÛ ÜÁõ¦øà. ¸Ûóéºõ. ÉÛéÁõ ÍÛÛ×˜ÛÛ …¶Ûé ýÛ×ªÛÛé 5,70,000 9,00,000

ÉÛéÁõþùà¥ ` 7 ½ÛÁõ¸ÛÛˆ 2,10,000 – 10% ¶ÛÛ ÁõÛéïõÛ¨ÛÛé 1,80,000 – 

ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û 2,25,000 1,50,000 Í¤øÛéïõ 75,000 96,000

¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× 1,80,000 2,40,000 þéùÈÛÛþùÛÁõÛé 1,35,000 93,000

›Û¾Ûà¶Û•ÛÛÁõà ¸ÛóàÜ¾ÛýÛ¾Û 75,000 60,000 ÅÛé¨Ûà Ðä×ü¦øà 75,000 42,000

15% ¶ÛÛ Ü¦ø¼Ûê˜ÛÁõ  3,00,000 – ¼Ûêïõ ÜÍÛÅÛïõ 2,70,000 1,20,000

ÅÛé¨ÛþùÛÁõÛé 1,20,000 1,50,000 ¸ÛóÛ¬ÛÜ¾Ûïõ ”Û˜ÛÛÙ 45,000 15,000

þéùÈÛà Ðä×ü¦øà 90,000 45,000   

ïõÁõÈÛéÁõÛ¶Ûà ›Ûé•ÛÈÛÛˆ 1,05,000 1,35,000   

ÍÛæÜ˜Û©Û Ü¦øÜÈÛ¦ø¶¦ø 75,000 1,26,000   

 19,80,000 21,06,000  19,80,000 21,06,000

 ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà : 

 (1) ÁõÛéïõÛ¨ÛÛé ©ÛÛ. 31-03-2013, ¶ÛÛ ÁõÛé›÷ ©Ûé¶Ûà ÈÛé˜ÛÛ¨Û Ýïõ¾Û©Û 20% ¶ÛºõÛé ¾ÛÇé ©Ûé Áõà©Ûé ÈÛé˜ÛéÅÛÛ Ðü©ÛÛ.  

 (2) ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û ÁõÛéïõÛ¨ÛÛé ¸ÛÁõ ` 18,000 ÈýÛÛ›÷ ¾ÛÇéÅÛ ™öé.  

 (3) ©ÛÛ. 31-03-2013 ¶ÛÛ ÁõÛé›÷ Ü¦ø¼Ûê˜ÛÁõ 3% ¶ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û¬Ûà ¸ÛÁõ©Û ïõÁéõÅÛ ™öé …¶Ûé Ü¦ø¼Ûê˜ÛÁõ ¸ÛÁõ     
` 45,000 ÈýÛÛ›÷ ˜ÛæïõÈÛéÅÛä× Ðü©Ûä×.  

 (4) ï×õ¸Û¶Ûà…é ›÷ÄõÁõà ïõÛýÛþùÛ¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé¶Ûä× ¸ÛÛÅÛ¶Û ïõÁõà ÜÁõ¦øà¾Ûé¼ÛÅÛ ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõÛé 5% ¶ÛÛ ¸ÛóàÜ¾ÛýÛ¾Ûé 
¸ÛÁõ©Û ïõÁéõÅÛ ™öé. ¸ÛóéºõÁõ¶ÍÛ ÉÛéÁõ ¸ÛÁõ©Û ïõÁõÈÛÛ ¾ÛÛ¤éø ÍÛÛ¾ÛÛ¶ýÛ …¶ÛÛ¾Û©Û¾ÛÛ×¬Ûà ` 3,00,000 ¾Ûæ¦øà  ¸ÛÁõ©Û 
…¶ÛÛ¾Û©Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé.  

 (5) ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û ›÷¾Ûà¶Û ¾ÛïõÛ¶Û ¸ÛÁõ ` 90,000 …¶Ûé ÍÛÛ×˜ÛÛ-ýÛ×ªÛÛé ¸ÛÁõ ` 1,35,000 –ÛÍÛÛÁõÛé ¾ÛÛ×¦øà 
ÈÛÛÇéÅÛ Ðü©ÛÛé.  

 (6) ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û ` 3,00,000 ¸Û¦ø©ÛÁõ Ýïõ¾Û©Û¶Ûä× ýÛ×ªÛ ïéõ ›÷é¶ÛÛé …éïõÜªÛ©Û –ÛÍÛÛÁõÛé ` 1,80,000 Ðü©ÛÛé ©Ûé 
ýÛ×ªÛ ` 1,35,000 ¾ÛÛ× ÈÛé̃ ýÛä× Ðü©Ûä×.  

 (7) ï×õ¸Û¶Ûà…é ¾Ûæ¦øà ¸ÛÁõ©Û …¶ÛÛ¾Û©Û¾ÛÛ×¬Ûà ÈÛ©ÛÙ¾ÛÛ¶Û ÉÛéÁõ µÛÛÁõïõÛé¶Ûé 2 : 1 ¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ¼ÛÛé¶ÛÍÛ ÉÛéÁõ …Û¸ÛéÅÛ 
™öé.  

 (8)   •ÛýÛÛ ÈÛÌÛÙ¶ÛÛ ïõÁõÈÛéÁõÛ¶Ûà Áõïõ¾Û ` 90,000 ˜ÛæïõÈÛéÅÛ ™öé …¶Ûé •ÛýÛÛ ÈÛÌÛÙ¶Ûä× ÍÛæÜ˜Û©Û Ü¦øÜÈÛ¦ø¶¦ø ¸Û¨Û 
˜ÛæïõÈÛéÅÛ ™öé.  

 Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨Û – 3 ¾Ûä›÷¼Û¶Ûä× ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. ›÷ÄõÁõà ©Û¾ÛÛ¾Û 
•Û¨Û©ÛÁõà þùÛ”ÛÅÛÛ¶ÛÛ ›÷ÈÛÛ¼Û¶ÛÛ ½ÛÛ•ÛÄõ¸Ûé þùÉÛÛÙÈÛÈÛÛ¶Ûà ÁõÐéÉÛé.  
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 The balance sheets of PDPMCC Ltd. as on 31-03-2012 and 31-03-2013 are given        
below  : 

Liabilities 31/3/12 

` 

31/3/13 

` 

Assets 31/3/12 

` 

31/3/13 

` 

Equity Share   Goodwill 1,50,000 1,20,000

capital 6,00,000 12,00,000 Land & Building 4,80,000 7,20,000

10% Red. Pref. Plant &  

Shares of ` 10 Machinery 5,70,000 9,00,000

each, ` 7 paid up 2,10,000 – 10% Investment 1,80,000 – 

General reserve 2,25,000 1,50,000 Stock 75,000 96,000

P & L Account 1,80,000 2,40,000 Debtors 1,35,000 93,000

Securities Prem. 75,000 60,000 Bills Receivable 75,000 42,000

15% debentures 3,00,000 – Bank balance 2,70,000 1,20,000

Creditors 1,20,000 1,50,000 Preliminary Exp. 45,000 15,000

Bills payable 90,000 45,000   

Prov. for taxation 1,05,000 1,35,000   

Proposed dividend 75,000 1,26,000   

 19,80,000 21,06,000  19,80,000 21,06,000

 Additional information  : 

 (1) On 31-03-2013, investments were sold at a profit of 20% on its sales proceeds. 

 (2) During the year interest received on investment amounted to ` 18,000. 

 (3) On 31-03-2013 debentures were redeemed at 3% premium and interest on 
debenture was paid ` 45,000. 

 (4) The company has redeemed redeemable pref. shares at 5% premium after 
observing necessary requirements of Act. For the purpose of redemption of pref. 
shares, the amount of ` 3,00,000 has been transferred from General Reserve to 
Capital Redemption Reserve. 

 (5) During the year depreciation written off  : 

  On Land and Building   `     90,000 

  On Plant and Machinery ` 1,35,000 

 (6) During the year a machine costing ` 3,00,000 on which accumulated depreciation 
was ` 1,80,000 was sold at ` 1,35,000. 

 (7) The company has issued bonus shares to the existing equity share holders from 
capital redemption reserve in the proportion of 2  : 1 

 (8)   ` 90,000 have been paid as tax for the last year and the amount of proposed 
dividend of the last year has also been paid. 

  From the above mentioned information, prepare cash flow statement as per 
accounting standard – 3. All calculations are to be considered as part of the answer.  
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3. ©ÛÛ. 01-04-2012 ¶ÛÛ ÁõÛé›÷¶Ûä× ›Û¶Ûïõà ÜÅÛ.¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä× …¶Ûé ©ÛÛ. 31-03-2013 ¶ÛÛ ÁõÛé›÷ ¸ÛäÁõÛ ¬Û©ÛÛ× 
ÈÛÌÛÙ¶Ûä× …ÛÈÛïõ¶Ûä× ¸ÛªÛïõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé :    14 

                              ©ÛÛ. 01-04-2012 ¶ÛÛ ÁõÛé›÷¶Ûä× ¸ÛÛïä×õ ÍÛÁõÈÛíéýÛä×  

›÷ÈÛÛ¼ÛþùÛÁõà…Ûé ` Ü¾ÛÅÛïõ©ÛÛé ` 

ÉÛéÁõ ¾Ûæ¦øà 

12% ¶ÛÛ Ü¦ø¼Ûê˜ÛÁõ 
ÅÛé¨ÛþùÛÁõÛé 

1,00,000 
20,000  

20,000 

ýÛ×ªÛÛé 

Í¤øÛéïõ 

þéùÈÛÛþùÛÁõÛé 

ÁõÛéïõ¦ø 

88,000  

12,000  

20,000  

20,000 

 1,40,000  1,40,000 

©ÛÛ. 31-03-2013 ¶ÛÛ ÁõÛé›÷ ¸ÛäÁõÛ ¬Û©ÛÛ× ÈÛÌÛÙ¶Ûä× …ÛÈÛïõ¶Ûä× ¸ÛªÛïõ 

ÜÈÛ•Û©Û ` ` 

ÈÛé˜ÛÛ¨Û 

¼ÛÛþù  :  ÈÛé˜ÛéÅÛ ¾ÛÛÅÛ¶Ûà ¸Û¦ø©ÛÁõ (FIFO) 

 ÉÛÄõ¶ÛÛé Í¤øÛéïõ  

 + ”ÛÁõàþùà 
  

 ¼ÛÛþù : …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ 

 

 

12,000 
48,000 

60,000 

10,000 

1,60,000  

 

 

 
 

50,000 

ïõÛ˜ÛÛé ¶ÛºõÛé 

 

¼ÛÛþù :  ”Û˜ÛÛÙ 

 ÍÛ×˜ÛÛÅÛ¶Û ”Û˜ÛÛÙ 

 –ÛÍÛÛÁõÛé 

 Ü¦ø¼Ûê˜ÛÁõ ÈýÛÛ›÷  (©ÛÛ. 31-03-2013 ¶ÛÛ ÁõÛé›÷ ˜ÛæïõÈÛéÅÛ) 

 

 

 

24,000 

8,800 

2,400 

1,10,000 

 

 

 

 

35,200 

˜ÛÛé””ÛÛé ¶ÛºõÛé  74,800 

 ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û þéùÈÛÛþùÛÁõÛé …¶Ûé ÅÛé¨ÛþùÛÁõÛé¶Ûà ¼ÛÛïõà…Ûé …éïõÍÛÁõ”Ûà ÁõÐüà ™öé.  

 ÍÛÛ¾ÛÛ¶ýÛ ½ÛÛÈÛ ÍÛæ˜Ûïõ…Û×ïõ ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©ÛÛ× : 

 01-04-2012   280 

 31-03-2013   420 

 ÍÛÁéõÁõÛÉÛ ÍÛæ˜Ûïõ…Û×ïõ  350 

 ÈÛ©ÛÙ¾ÛÛ¶Û ”ÛÁõàþù ÉÛÜî©Û¶Ûà ¸Û±ùÜ©Û …¶ÛäÍÛÛÁõ ½ÛÛÈÛ ÍÛ¸ÛÛ¤øà¾ÛÛ× ºéõÁõºõÛÁõ¶Ûà …ÍÛÁõ …Û¸ýÛÛ ¼ÛÛþù ©Û¾Ûé 2012-13 
¶ÛÛ ÈÛÛÜÌÛÙïõ ÜÐüÍÛÛ¼ÛÛé ©ÛíéýÛÛÁõ ïõÁõÛé.  
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 The balance sheet of Janki Ltd. as on 01-04-2012 and the income statement for the year 
ending on 31-03-2013 are given below :   

                              Balance Sheet as on 01-04-2012 

Liabilities ` Assets ` 

Share Capital 

12% Debentures 

Creditors 

1,00,000 

20,000 

20,000 

Machinery 

 Stock  

Debtors  

Cash 

88,000 

12,000 

20,000 

20,000 

 1,40,000  1,40,000 

Income statement for the year ending on 31-03-2013 

Particulars ` ` 

Sales  

Less  :  Cost of goods sold (FIFO) 

 Opening stock  

 + Purchase 

  

 – Closing stock 

 

 

12,000 
48,000 

60,000 

10,000 

1,60,000  

 

 

 

 

50,000 

Gross Profit  

 

Less  :  Expenses  

 Operating Exp. 

 Depreciation  

 Interest on debentures  

 (paid on 31-03-2013) 

 

 

 

24,000 

8,800 

2,400 

1,10,000 

 

 

 

 

35,200 

Net Profit  74,800 

 Debtors and Creditors balance remained constant throughout the year.  

 General Price index was as given below. 

 01-04-2012   280 

 31-03-2013   420 

 Average Index No. 350 

 

 You are required to prepare the final accounts for the year 2012-13 after adjusting for 
price level changes under current purchasing power (CPP) method. 

…¬ÛÈÛÛ/OR 

3. (A) ºäõ•ÛÛÈÛÛ¶Ûà ÈÛ©ÛÙ¾ÛÛ¶Û ¸Û¦ø©ÛÁõ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. …Û ÍÛ×þù½ÛÙ¾ÛÛ× µÛÛÁõïõ ¶ÛºõÛ¶ÛÛé ”ýÛÛÅÛ 
ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé.    7 

  Explain current cost accounting method of inflation accounting. Explain in this 
connection the concept of holding gains with illustrations.   



DU-101 8  

 (B)  ¶Ûà˜Ûé¶ÛÛ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé)   7 

  Answer the following : (Any two)  

  (1)  ¾ÛæÅýÛ ÈÛèÜ±ù¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛÛé.  
   Explain value added concept. 

  (2)  ¾ÛÛ¶ÛÈÛ ÍÛ×¸ÛÜ«Û ÜÐüÍÛÛ¼ÛÛé¶ÛÛ ¾ÛæÇ½Ûæ©Û …¶Ûä¾ÛÛ¶ÛÛé 
   Basic assumptions of human resources accounting 

  (3)  ÍÛÛ¾ÛÛÜ›÷ïõ ›÷ÈÛÛ¼ÛþùÛÁõà¶Ûä× ïõÛýÛÙ“ÛéªÛ  
   Scope of Social Responsibility 

  (4)  ¸ÛýÛÛÙÈÛÁõ¨ÛÅÛ“Ûà ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¶ÛÛé …¬ÛÙ 
   Meaning of Environmental Accounting 

 

4. (A) ¾ÛýÛäÁõà ÜÅÛÜ¾Û¤éø¦ø¶Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ÉÛÛéµÛÛé :    7 

  (1)  ¶ÛºõÛ ›÷¬¬ÛÛ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ  
  (2) ÜÍ¬ÛÁõ ”Û˜ÛÛÙ 
  (3)     ÍÛ¾Û©ÛäÅÛ Ý¼Ûþäù 
  (4) 2012 ¶ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé 
  (5) ` 60,000 ¶ÛºõÛé ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø ›÷ÄõÁõà ÈÛé˜ÛÛ¨Û 
  (6) ÈÛé˜ÛÛ¨Û ` 5,00,000 ÐüÛéýÛ ©ýÛÛÁéõ ¶ÛºõÛé 
  (7) ¶ÛºõÛé ` 30,000 ÐüÛéýÛ ©ýÛÛÁéõ ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé 
   ÈÛÌÛÙ ÈÛé˜ÛÛ¨Û (`)  ¶ÛºõÛé ( `) 

   2011 2,00,000  20,000 

   2012  3,00,000  40,000 

  From the following information of Mayuri Ltd., calculate the following :   

  (1)  Profit Volume Ratio 

  (2) Fixed Expenses 

  (3)     Break Even Point 

  (4) Margin of safety for the year 2012 

  (5) Sales to earn a profit of  ` 60,000 

  (6)  Profit when sales is  ` 5,00,000 

  (7) Margin of safety when profit is  ` 30,000 

   Year  Sales (`)  Profit ( `) 

   2011 2,00,000  20,000 

   2012  3,00,000  40,000 

    …¬ÛÈÛÛ/OR 

 (A)  ¸Û¦ø©ÛÁõ¶ÛÛ ÜÈÛÜÈÛµÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé.  
  Explain various concepts of cost.  
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 (B)  ÁõÛ›÷é¶®ù ÜÅÛ.¶Ûà ¶Ûà˜Ûé …Û¸ÛéÅÛà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà 30¾Ûà ›æ÷¶Û 2013 ¶ÛÛ ÁõÛé› ¸ÛäÁõÛ ¬Û©ÛÛ× 3 ¾ÛÛÍÛ¶Ûä× 
ÁõÛéïõ¦ø …×þùÛ›÷¸ÛªÛ ©ÛíéýÛÛÁõ ïõÁõÛé.    7 

©ÛÛ. 01-04-2013 ¶ÛÛ ÁõÛé›÷ ÁõÛéïõ¦ø …¶Ûé ¼Ûêïõ ÜÍÛÅÛïõ ` 1,20,000 

¾ÛÛÍÛ ïäõÅÛ ÈÛé̃ ÛÛ¨Û 
( `) 

ÈÛé˜ÛÛ¨Û ¸ÛÁõ©Û
( `) 

ïäõÅÛ ”ÛÁõàþùà 
( `) 

¾Û›ä÷Áõà 
( `) 

¸ÛÁõÛé“Û ”Û˜ÛÙ 
( `) 

ºéõ¼Ûóä…ÛÁõà  
¾ÛÛ˜ÛÙ 
…éÜ¸ÛóÅÛ 
¾Ûé 
›æ÷¶Û 

5,60,000 
6,40,000 
8,00,000 
7,20,000 
6,80,000 

8,000 
12,000 
20,000 
16,000 
24,000 

5,30,000 
4,80,000 
5,60,000 
6,00,000 
6,40,000 

52,000 
56,000 
48,000 
64,000 
72,000 

92,000 
60,000 
88,000 

1,00,000 
1,20,000 

  (1) ÁõÛéïõ¦ø ÈÛé˜ÛÛ¨Û …¶Ûé ŠµÛÛÁõ ÈÛé˜ÛÛ¨Û¶Ûä× ¸Ûó¾ÛÛ¨Û 1 : 4 µÛÛÁõÛé.  
  (2) ïäõÅÛ ”ÛÁõàþùà¶ÛÛ 20% ÁõÛéïõ¦ø ”ÛÁõàþùà µÛÛÁõÛé.  
  (3)  ˜ÛÛé””ÛÛ ŠµÛÛÁõ ÈÛé˜ÛÛ¨Û¶ÛÛ 50% ÈÛé˜ÛÛ¨Û ¸Û™öà¶ÛÛ ¾ÛÜÐü¶ÛÛ¾ÛÛ× …¶Ûé ¼ÛÛïõà¶ÛÛ 50% ÈÛé˜ÛÛ¨Û 

¸Û™öà¶ÛÛ ¼Ûà›Û ¾ÛÜÐü¶ÛÛ¾ÛÛ× ¾ÛÇé ™öé.  
  (4)  ` 2,00,000 ¶ÛÛ ýÛ×ªÛÛé¶Ûà Ü¦øÜÅÛÈÛÁõà ¾Ûé-2013 ¾ÛÛ× ¾ÛÇÉÛé. ›÷é¶ÛÛ× 10% ¶ÛÛ¨ÛÛ× ©ÛÁõ©Û ›÷ 

˜ÛæïõÈÛÈÛÛ ¸Û¦øÉÛé …¶Ûé ¼ÛÛïõà¶Ûà Áõïõ¾Û 3 ¾ÛÛÍÛ ¸Û™öà ˜ÛæïõÈÛÈÛÛ¶Ûà ™öé.  
  (5) ÈÛé¸ÛÛÁõà…Ûé…é …Û¸ÛéÅÛÛé ÉÛÛ”Û¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé 1 ¾ÛÜÐü¶ÛÛé ™öé.  
  (6) ¾Û›æ÷Áõà ˜ÛæïõÈÛ¨Ûà¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé ¼  ¾ÛÛÍÛ ™öé.  
  (7) ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ˜ÛæïõÈÛÈÛÛ¶ÛÛé ÍÛ¾ÛýÛ•ÛÛÇÛé ½  ¾ÛÛÍÛ ™öé.  
  From the following information of Rajendra Ltd., prepare a Cash Budget for the 3 

months ending on 30-06-2013. 
Cash and Bank Balance as on 01-04-2013 is  ` 1,20,000 

Month Total 
Sales 
( `) 

Sales 
Return 

( `) 

Total 
Purchase

( `) 

Wages
( `) 

Overheads
( `) 

February 
March  
April  
May  
June 

5,60,000 
6,40,000 
8,00,000 
7,20,000 
6,80,000 

8,000 
12,000 
20,000 
16,000 
24,000 

5,30,000 
4,80,000 
5,60,000 
6,00,000 
6,40,000 

52,000 
56,000 
48,000 
64,000 
72,000 

92,000 
60,000 
88,000 

1,00,000 
1,20,000 

  (1)    Assume the proportion of cash sales and credit sales as 1 : 4 
  (2)  Assume 20% of total purchase to be cash purchase. 
  (3)  50% of credit sales are collected in the month following the sales and 

remaining 50% in the second month following the sales. 
  (4)  Plants costing  ` 2,00,000 is due for delivery in May-2013 payable 10% on 

delivery and the balance after 3 months. 
  (5)  The period of credit allowed by suppliers in one month. 
  (6)    Time lag in payment of wages is ¼  month. 
  (7)    Time lag in payment of overheads is ½  month. 

…¬ÛÈÛÛ/OR 

 (B)  ÉÛæ¶ýÛ …ÛµÛÛÁõà©Û …×þùÛ›÷¸ÛªÛ …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ºõÛýÛþùÛ …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  
  What is zero based budgeting ? Explain its advantages and limitations.   
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5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé :   14 

 Select appropriate alternative :   

 (1)  IFRS ¾Ûä›÷¼Û ¶ÛÛ¨ÛÛ×ïõàýÛ ¸ÛªÛïõÛé ïõˆ Ýïõ¾Û©Ûé Áõ›æ÷ ¬ÛÛýÛ ™öé ? 
  (a)     ¼Û›ÛÁõ Ýïõ¾Û©Û (b)     ÈÛÛ›÷¼Ûà Ýïõ¾Û©Û 
  (c)  …íéÜ©ÛÐüÛÜÍÛïõ Ýïõ¾Û©Û (d)   ¸Ûä¶Û:Í¬ÛÛ¸Û¶ÛÛ Ýïõ¾Û©Û 
  As per IFRS financial statements are presented at  

  (a)     Market Value  (b)     Fair Value   
  (c)  Historical Value         (d)   Replacement value 

 (2) §øÛéÁõ-§øÛ×”ÛÁõ ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ ÜÉÛÌÛÙïõ Ðéü¥øÇ þùÉÛÛÙÈÛÛýÛ ? 
  (a)    ˜ÛÛÅÛä Ü¾ÛÅÛïõ©ÛÛé (b)    ÁõÛéïõÛ¨ÛÛé 
  (c)    ïõÛýÛ¾Ûà Ü¾ÛÅÛïõ©ÛÛé (d)    …´ùÉýÛ Ü¾ÛÅÛïõ©ÛÛé 
  Live stock shown under the head 

  (a)    Current assets  (b)    Investments  

  (c)    Fixed assets              (d)    Intangible assets 

 (3)  ÉÛéÁõ¾ÛÛ× ÁõÛéïõÛ¨Û ¸Ûíéïõà ¶ÛÐüà ¾Û×•ÛÛÈÛéÅÛ Ðü¸©ÛÛ¶Ûà Áõïõ¾Û ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ ÉÛàÌÛÙïõ Ðéü¥øÇ þùÉÛÛÙÈÛÛýÛ ? 
  (a)    ÁõÛéïõÛ¨ÛÛé (b) ˜ÛÛÅÛä Ü¾ÛÅÛïõ©ÛÛé 
  (c)  ˜ÛÛÅÛä þéùÈÛÛ× (d) ÍÛ×ÉÛÜýÛ©Û þéùÈÛä× 
  The uncalled amount in investment in shares are shown under the head  

  (a)    Investments  (b) Current assets  

  (c)  Current Liability        (d) Contingent Liabilities 

 (4)  Š™öà¶ÛÛ ¶ÛÛ¨ÛÛ×¶Ûà ¸Û¦ø©ÛÁõ …×•Ûé¶Ûä× ÜÐüÍÛÛ¼Ûà µÛÛéÁõ¨Û  
  (a)   AS – 16  (b) AS – 15  
  (c) AS  – 17                         (d)   AS – 18 

  Borrowing cost is dealt with by 

  (a)   AS – 16  (b) AS – 15  
  (c) AS  – 17                         (d)   AS – 18 

 (5)     ”Ûæ¼Û ‹˜ÛÛé ˜ÛÛÅÛä •Ûä¨ÛÛé«ÛÁõ  
  (a) ¶ÛºõÛïõÛÁõïõ©ÛÛ ÈÛµÛÛÁõÉÛé (b) ¶ÛºõÛïõÛÁõïõ©ÛÛ –Û¤øÛ¦øÉÛé 
  (c) ¶ÛºõÛïõÛÁõïõ©ÛÛ ¸ÛÁõ …ÍÛÁõ ¬ÛÉÛé ¶ÛÐüá (d)  Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá  
  A very high current ratio will 

  (a) Increase Profitability     (b) Decrease Profitability  

  (c) Not affect on Profitability (d)  None of the above 

 (6)   •ÛÛíé¨Û ï×õ¸Û¶Ûà¶Ûà ”ÛÁõàþùà …é 
  (a)   ïõÛ¾Û•ÛàÁõà ¸ÛóÈÛèÜ«Û •Û¨ÛÛýÛ  (b)  ¶ÛÛ¨ÛÛ×ïõàýÛ ¸ÛóÈÛèÜ«Û •Û¨ÛÛýÛ  
  (c)   ÁõÛéïõÛ¨Û ¸ÛóÈÛèÜ«Û •Û¨ÛÛýÛ (d)  Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá  
  Acquisition of a subsidiary company is a 
  (a)   Operating Activity     (b)  Financing Activity  

  (c)   Investing activity      (d)  None of the above 
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 (7)     ÍÛà¾ÛÛ×©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ¾Ûä›÷¼Û ïäõÅÛ ºõÛÇÛé 

  (a)    ïäõÅÛ ÜÍ¬ÛÁõ ”Û˜ÛÙ + ïäõÅÛ ¶ÛºõÛé 

  (b)    ïäõÅÛ ÜÍ¬ÛÁõ ”Û˜ÛÙ – ïäõÅÛ ”ÛÛé¤ø  

  (c)    ïäõÅÛ ÈÛé˜ÛÛ¨Û – ïäõÅÛ ˜ÛÜÅÛ©Û ”Û˜ÛÙ 

  (d)    Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 

  Under marginal costing which of the following is total contributions 

  (a)    Total Fixed Cost + Total Profit 

  (b)    Total Fixed Cost – Total Loss 

  (c)    Total Sales – Total Variable cost 

  (d)    All of the above 

 (8)  ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ÜÈÛ•Û©Û ïäõÅÛ ÜÍ¬ÛÁõ ”Û˜ÛÙ •Û¨ÛÛýÛ ? 

  (a)    ïäõÅÛ ºõÛÇÛé – ïäõÅÛ ¶ÛºõÛé 

  (b)   ïäõÅÛ ºõÛÇÛé – ïäõÅÛ ”ÛÛé¤ø 

  (c)    ÍÛ¾Û©Ûä¤ø Ý¼Ûþäù (`)  ¶ÛºõÛ ›÷¬¬ÛÛ¶ÛÛé •Ûä¨ÛÛé«ÛÁõ  

  (d)    Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ 

  Which of the following is total fixed cost ? 

  (a)    Total Contribution – Total Profit 

  (b)   Total Contribution – Total Loss 

  (c)    BEP (`)  Profit Volume Ratio 

  (d)    All of the above 

 (9) ›Ûé ÉÛÄõ¶ÛÛé Í¤øÛéïõ ` 29,000, …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ ` 31,000, ÈÛé˜ÛÛ¨Û ` 3,00,000 …¶Ûé ïõÛ˜ÛÛ ¶ÛºõÛ¶ÛÛé 
þùÁõ ¸Û¦ø©ÛÁõ ¸ÛÁõ 25% ÐüÛéýÛ ©ÛÛé Í¤øÛéïõ ˜ÛÅÛ¶Û þùÁõ 

  (a)     8 ÈÛ”Û©Û (b)  7 ÈÛ”Û©Û 

  (c)    7.5 ÈÛ”Û©Û (d) 9 ÈÛ”Û©Û 

  If opening stock  ` 29,000, closing stock  ` 31,000, sales  ` 3,00,000 and G. P. 
Ratio 25% on cost, then Stock turnover ratio will be  

  (a)     8 times  (b)  7 times  

  (c)    7.5 times                    (d) 9 times 

 (10)  ÅÛÛ×¼ÛÛ •ÛÛÇÛ¶ÛÛ þéùÈÛÛ¶Ûä× ˜ÛæïõÈÛéÅÛ ÈýÛÛ›÷  

  (a) ÁõÛéïõÛ¨Û ¸ÛóÈÛèÜ«Û •Û¨ÛÛýÛ     (b)  ¶ÛÛ¨ÛÛ×ïõàýÛ ¸ÛóÈÛèÜ«Û •Û¨ÛÛýÛ 

  (c)   ïõÛ¾Û•ÛàÁõà ¸ÛóÈÛèÜ«Û •Û¨ÛÛýÛ  (d)  Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà …éïõ¸Û¨Û ¶ÛÐüá 

  Interest paid on long term borrowing is a 

  (a) Investing Activity     (b)  Financing Activity  

  (c)   Operating Activity  (d)  None of the above 
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 (11) ›Ûé ÉÛÄõ¶ÛÛé Í¤øÛéïõ ` 40,000, ”ÛÁõàþùà ` 3,20,000 …¶Ûé …Û”ÛÁõ¶ÛÛé Í¤øÛéïõ ` 60,000, ©Û¬ÛÛ ÉÛÄõ¶ÛÛé 
ÍÛæ˜Ûïõ…Û×ïõ 200, …Û”ÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ 240 …¶Ûé ÍÛÁéõÁõÛÉÛ ÍÛæ˜Ûïõ…Û×ïõ 220  ÐüÛéýÛ ©ÛÛé ÈÛé˜ÛÛ¨Û 
¸Û¦ø©ÛÁõ¶ÛÛé ÐüÈÛÛÅÛÛé  

  (a)     ̀  12,000  (b) ` 31,000  

  (c)     ` 9,000                        (d)    ` 18,000 

  Which of the following is cost of sales adjustment, if opening stock  ` 40,000, 
purchase  ` 3,20,000, closing stock  ` 60,000, opening price index 200, closing 
price index 240 and average price index 220 ? 

  (a)     ̀  12,000  (b) ` 31,000  

  (c)     ` 9,000                        (d)    ` 18,000 

 (12)  ›Ûé ÉÛÄõ¶Ûà ¶ÛÛ¨ÛÛ×ïõàýÛ ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà ` 2,40,000 …¶Ûé …Û”ÛÁõ¶Ûà ¶ÛÛ¨ÛÛ×ïõàýÛ ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà        
` 4,80,000, ©Û¬ÛÛ ÉÛÄõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ 200, …Û”ÛÁõ¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ 240 …¶Ûé ÍÛÁéõÁõÛÉÛ ÍÛæ˜Ûïõ…Û×ïõ 
220 ÐüÛéýÛ ©ÛÛé ¶ÛÛ¨ÛÛ×ïõàýÛ ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛé ÐüÈÛÛÅÛÛé 

  (a)     ` 80,000  (b) ` 1,00,000  

  (c)     ` 48,000                     (d)  `  64,000 

  Which of the following is monetary working capital adjustment, if opening 
monetary    working capital  ` 2,40,000, closing   monetary  working  capital  ̀  4,80,000, 
opening price index 200, closing price index 240 and average price index 220 ? 

  (a)     ` 80,000  (b) ` 1,00,000  

  (c)     ` 48,000                     (d)  `  64,000 

 (13)  ›Ûé ˜ÛÜÅÛ©Û ”Û˜ÛÙ •Ûä̈ ÛÛé«ÛÁõ 60% ÐüÛéýÛ ©ÛÛé ` 1,20,000 ¶ÛºõÛé ÐüÛéýÛ ©ýÛÛÁéõ ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé 
  (a)     ` 3,00,000  (b)  ` 2,00,000  

  (c)     ` 1,80,000                   (d)    `  4,00,000 

  Which of the following is margin of safety at a profit of  ` 1,20,000, if variable cost 
ratio is 60%  ? 

  (a)     ` 3,00,000  (b)  ` 2,00,000  

  (c)     ` 1,80,000                   (d)    `  4,00,000 

 (14)  ›Ûé ïäõÅÛ þéùÈÛä× ` 90,000, ÁõÛéïõÛýÛéÅÛ ¾Ûæ¦øà ` 1,20,000 …¶Ûé ˜ÛÛÅÛä þéùÈÛä× ` 10,000 ÐüÛéýÛ ©ÛÛé þéùÈÛÛ× 
ˆÜîÈÛ¤øà •Ûä¨ÛÛé«ÛÁõ  

  (a)     3 : 1  (b)     2 : 1  

  (c)     2.5  : 1                          (d) 1  : 2 

  What will be the debt equity ratio, if total debt is  ` 90,000, capital employed is               
` 1,20,000 and current liability is ` 10,000 ? 

  (a)     3 : 1  (b)     2 : 1  

  (c)     2.5  : 1                          (d) 1  : 2 

_____________ 


